
Show that every countable linear ordering is isomorphic to a subset of the rationals under 
their usual order but that  (with its well order) is not isomorphic to any set of reals 
under their usual ordering.  The solution may use any algebraic facts about the reals.   
 
Notation and Definitions 
 

 is an uncountable set 
 

 is a well ordering of  with the property that  is countable for all   
 
[from Notes on Set Theory -Yiannis Moschovakis] 
[Let me know if you have a question on notation; I have a pdf file of this book] 
 

 
 
 


